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ELECTRICAL ENGINEERING AND MEASUREMENTS

fruffa @ 392 [FAftrehan 3 : 60
Time allowed : 3 Hours) [Maximum Marks : 60
A () FEA-FAATGFAC AT HE
Note : There are THREE sections in the paper A, B and C.
(i) QT H v @ 1 & @t 10 9T & IR AT | TeGw 97 O I B E
og @41 10 977 FGIHE FFR & 571 F 8 |

Answer all the 10 parts of the question no. 1 in Section-A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) AT~ F 8 T T G FoegT 6 T & I GG | FodFH T 3 % FETT
Z7T 5 IET / 50 Vg 4 37 g |

Answer any 6 questions out of the 8 questions in Section-B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) Q- % 6 T 4 @ BT 4 ¥l & I G | Fe A T 8 JFEFRCT
577 15 &8 / 150 1&gl 5 377 o |

Answer any 4 questions out of the 6 questions in Section-C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

) N BF & G T # FHEAR U H1Y FF BT |
Solve all the questions of a section consecutively together.
(i) @ aTTa A 3R &R # e A sl s & A 8 |

Only English version is valid in case of difference in both the languages.

A -
Section - A
L) 2. v fave wdiem R @A R 7
(@ V=E,+LR, ® V=E,-LR,
(¢0 E,=V+IR, @ B =V-1R,
Which voltage equation for d.c. motor is correct ?
(@ V=E, +LR, (b) V=E,-LR,
) E,=V+LR, (d E,=V-LR,

(10f4) P.TAD
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(i) 2. Her H wire " e w R IR 9 7
(a) Temwf (b)  FrEEEEIT Tt |
(c) FBw | (d) FB g
What happens when the load is increased, the speed of d.c. motor will ?
(a) Remains constant (b) Increase proportionately
(¢) Increase slightly (d) Reduce slightly

(i) 2.4, Hrex % ol 1 feen fera fram g sma 6t et 2 7

(a) erm fram (b) = fam
(c) weftpm g &1y &1 faam (d) v @ w1y &

Which of the following rule is used to determine the direction of rotation of D.C.
Motor ?

(a) Coulomb’s law (b) Lenz’s law

(¢) Fleming’sright hand rule  (d) Fleming’s left hand rule

(iv) e e i nfa famr a6 sfusran adi 2 7

)

(a) Tir=reuo faga "t (b) s foza wix
(c) ooft Hiet (d) Trvd HI

No load speed of which of the following motor is highest ?
(a) Differentially compound motor

(b) Cumulative compound motor

(c) Series motor

(d) Shunt motor

yftonfe &t Soft futor feves gro fFn sman 2 7

(a) kVA (b) kVAR
(c) kW (d) Watt
Rating of transformer is expressed in
(a) kVA (b) kVAR
(c) kW (d) Watt
(vi) ufeonfim # @\ a1 faega sreae ofafda Td g 2 2
(a) =T (b) Igfe
(c) fawa (d) Iotied Tt
Which electrical element is not changed in transformer ?
(a) Current (b) Frequency

(c) Voltage (d) All of the above
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(vii) 3gfe @1 arum ferm |q gr faran sman 2 2
(a) Hewdd dq (b) ReiaTEe FEe 3
(¢) vhafonag (d) d=Hqg
Which of the following bridge is used for measurement of frequency ?
(a) Maxwell’s bridge (b) Heaviside Campbell bridge
(¢) Schering bridge (d) Wien’s bridge '
(viii) Hegaed Yehed 91T Hq 1 I9GNT Siehed B9 24 58 37e9a &1 71 & & ford
fem a2 2
(a) &9 Q-Fveseh (b) wem Q-Fveet
(c) I Q-FuseAl (d) g aHeEH Q-FuSe!
Maxwell’s inductance-capacitance bridge is used for measurement of inductance of
(a) Low Q-coils (b) Medium Q-coils
(¢) High Q-coils (d) Low & Medium Q-coils
(ix) B gr faae g Sar g ¢
(a) oY HH yfaty (b) weAH | gfedy
(¢) = UM fauy (d) 390 Tt
A Meggar is used for measurement of
(a) Low valve resistance (b) High value resistance

(c) Medium value resistance (d) All of the above

(x) e =fera I9e H S §1 AGHe Ta Hd 8 7

(&)

(a) Ul 9T HaHEA (b) 7z =¥ FHGHEA

(c) drg THv JHaHEA (d) forga — gradhra saweA

Which damping is used in moving iron instruments ?

(a) Eddy current damping (b)  Fluid friction damping

(¢c) Air friction damping (d) Electro-magnetic damping (1x10)
JaH -t
Section - B

& =Y. Hiex i Hrfafy = afem gaensd |

Explain the working principle of D.C. motor with sketch. (3)
3. g, He S s & fafed |
Write the applications of D.C. motor. (3)

LD,
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4.

10.

11.

12.

33,

14.

15.

& ot er o wrdt & w1 AavEshal 2 7

What is the need of starter in D.C. motor ? (3)
31—z sromret <t fareger o Iwfian forfigd |
Write down the utility of three phase system in electrical. (3)
o7 Tien <t Hrfafy & afem gvia Hifsd |
Explain the working principle of Induction motor with sketch. (3)
TG IYH § WS AT I 3T FaTE |
Write down the use of damping torque in measuring instruments. (3)
4 oY, favaumdt 6 srifafa & afem ook Hife |
Explain the working principle of D.C. potentiometer with sketch. (3)
1 #i. 8q % fere wafera s fafad |
Write the balance equation for A.C. bridges. (3)
A —
Section - C
- farmg werdt o faramgdes afe v $ifs |
Explain three point starter in detail with suitable diagram. (8)
&+t Hier # aw-fava i g sgeg= Fif |
Derive the equation of back e.m.f. for D.C. motor. (8)

#r gftonfim 61 5= 9 srifafy w1 afam gk fifsa |

Explain the construction, working principal of core type transformer with neat sketch. (8)

A -afed 3Tt it sre a wrfaf & gt av Fif |

Explain the construction and working of moving iron instruments with neat sketch.  (8)

Srgfa w19 3 3 &g $i T 9 I9ge TR Fa HIA |
Derive the equation for measurement of frequency by Wein’s bridge with suitable
diagram. (8)

1000 © wfertre 3 Hedmdier & 200 Q wfadty %1 92 & T wifd i momEn Hf |
a1 39 vie yfatig &1 W s it fe e wifdw @ wE S0 2 |
Find the multiplying power of a shunt of 200 € resistance used with a galvanometer

of 1000 Q resistance. Determine the value of shunt resistance to give a multiplying
power of 50. (8)
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